OTBeT Ha BTOPOMU NYHKT nnaHa (the

action)
eJnibHoe
is having fun 1z 'heeviy fAan noJyyaet
yaosonbcTBUue/
BeCenmTCs
is looking at the 17 'lukin et 38  cMOTpUT B Kamepy
He / She camera 'keemara
is smiling 1z 'smarlin ynbibaetcs
r'ead | ng is thinking 1z 'B1rkin AymaeTt
is sitting 1z 's1tIn cmaut
is playing 1z 'plerin urpaet

is writing 1z rartin nuwer



OTBeT Ha BTOPOMU NYHKT nnaHa (the

action)
eJnibHoe

is working 1z ‘'w3a:kin paboTtaeTt
is listening to 1z 'lisnig tu: ‘'mjuizik crnywaeTt mys3bIKy
music

H e / Sh e iS running IZ 'rANIY 6exuT
IS swimming IZ SWImIn nnasaeT
is reading 1z 'ri:dIn ymuTaer

is doing homework 1z 'du(:)iy "haum w3k penaer aomawHroro
paboTy
is smiling 1z 'smatlin ynbrbaetcs



Stative verbs

e |ike

* |ove

* want

* hate
 know

* believe
* consist

"Fh'ég"rhre sitting in the park and reading a

. S°B60k. Also they are talking about this

° Wi
°* own bOOk



OTBeT Ha TPEeTUU NYHKT NJlaHa
(the person’s appearence)

MectoumeHue/ $opma rnarona «have» TTpusHak
cylecTBuUTenbHOe (have, has) nubo

BbIpaxeHue have/has

He has an oval face.
She has got long hair.

The boy has large ears



OTBeT Ha TPEeTUU NYHKT NJlaHa
(the person’s appearence)

MectoumeHue/ &opma rnarona «to TTpusHak
cylecTBuTenbHoe be» (am, is, are)

He is tall

She is beautiful
The boy is handsome
Her hair is long

His cheeks are chubby



OTBeT Ha TPeTUN NYHKT nJfaHa
(person’s appearence)

The picture depicts a slim boy with fair hair and
pale skin.

In the picture we can see 2 girls. One of girls is tall. She has got
long and dark hair.7///

The 2" girl is plump. She has got long] curly and red hair. She is
wearing a blue T-shirt and white blouse also she is wearing a
grey jeans. We can see some bracelets on her left hand.



